
-.



o =

0

. . . 0

0 . . . 0
.
.

0 . . .
i

0

Lwx-h A+O=o+A  =  A (3.1.4)
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AI, = l,A = A (3.1.5)

&iaeFid  3 . 1 . 3  t%ll7cultTlmlloJilu7u~~J

(n) t~on7a~7tfun7akan7aElan  (-a) rim-h ~7i7wnwIpdw19  a twal:il

a+(-@  = -a+a = 0 (3.1.6)

ttfi::  0 Fio  rru73nronn’n~riiiiHr’Elni~~7nuutaaiiu7u~^rj

a.: = 1
;.a  = 1

.
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(3.2.2)
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%Jl¶J  3.2.3 I%JBl^anl%j~~~  A L"afJfldl  “LQfl;lU  (singular)” 61 det A = 0

k6lt~~liflWC1tl~lU  (nonsingular) <‘l  det A # 0

k&l 81 A b.hhtXl;lPr  (det A # 0) bh~W&J?‘l  3.2.1 Srjd61 A +$.a

r-u-Gu  (HI A-’ rq

2 1 0
&iaeh~ L3.2.1 61 A = [ 0 2

3 0

1 1
2

xvmh-uduv0;1 A

:in’l WI cof A 'FtlLJkll%J  2.4.1 q,rb?l

cofA =

b&Jl%J 2.4.2

adj A

LW3ltAl IA/ = = 11
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1 --- 11 4 11 2 Ir 1

= 1::  II 6 3 --- II 4 3 II 4 2

II ii ii

2 -3
cofA = [ 1 LLar

-1 4
adj A =

A-” = (A - ‘ ) ” = A-+,-I)“-’

-
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u’D&JafW  A’ = 1, 40 A rilurum%i%@imwi~  nxn vhofhJlh

LWfltTjl A-= = (A-If = A-IA-1

WltQ&4

A-2(A2)  =  (A-IA-‘) ( A A )

= A-‘(A-‘A)A

= A-‘1,A

= A - ‘ A

= I”
wio Aa  = I,



-N 
-

lz
-2!!u

1
m

 
c-4

 
-

1

+-
 

m
 

0
 

0
 

-

I
F( 

-
 

0

I
N

I
I

I

II
II

a
n

!
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A =

I I

0 2 1

3 0 2

det G = det (adj G)

13. rilHUCI~1  A thJelinbm  nxn (%k~  n ) 2) daulhhilu3u~t~  VI%

i7U?UL%&lU  $5  A = cof A

(n) yml det A

(U) 5lJHl  A-’

(n) 61 n # 2 ttar A tilutuoljn~~7u?u~j~tt~~~~t~u~u~  EllSJil  A-’ = AT

HiQ!ti  (LtUttil  : l%4tt37l%&lioJuR@J-i7  61 A # 0 &I.&  det A # 0)



1 2 7



1 2 8

= 1”

%l~l+Yl  3.3.2 O:!k

(AB)(B-‘A-‘)  =  (B-IA-‘) ( A B )  = 1,

h@JYl  3.3.1 i%?U BT?Hfl~UlJR4  (AB) $0  B-IA“  filh

(AB)-’ = B-‘A-’

A“  zz B-’  E

UAE B-IA-1  =

3 -1I I-2 1

(3.3.2)
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LLRZ (AB)-’  =
) lh
- adj(AB)

(3.3.2) = (3.3.3) @i&4

(AB)-’  = B-‘A-’  =

JABI  = 2

(3.3.3)

5 -;
[ 14 l

2

(3‘3.4)



1 3 0

nqnijun  3.3.6 $1  A  b&Wl~lU  (A i.hhd.b)  ‘&U

(A-‘)-’  cc  A. (3.3.5)

i+Jod LW3wh A bGh.uong~u tWf7:Qr~u A dG?i?ecflu’u  nuGilGXaf.u-dim4  A

&I A-’ h&i

AA-’ = I” (3.3.6)

@A-p-l = (IJ’  = I”

lhp$n  3.3.3 9tVi

(A-‘)-]  A-’ = I, (3.3.7)
,

(3.3.6) = (3.3.7)

AA-’ = (A-‘)-’  A-’ zz 1 n
L a

uufla (A-‘)-’ = A #
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-.
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(3.3.9)



Wl66Wl,sYlqY$J’l ilM%i I 0 1
6. 3.3.6 A := 1 LEC B = l%Ytil66ULl

0 0.

L



134



AX = B

luti!h 1 1 1

A =  1 0 1

I I
2 - l  0

1 1T - -
2

1 - 1

l--l 3
2 z

1
5

0

1- -
2 I

1 1T - -
2

1 - 1

1 3
z 2

1
z

0

1- -
2

2lij02
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b.bAl. A = [ 2 21 3 1
i)innt-p~un 3.4.1 xIm"

l-3 1 1
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66lJlJ%Gi4  3.4

1.

2.

3 .

4 .

7 .

8.

I x,+3x,  = 4

2x,-2x,  = 6

( x,-4x, = 2
Ic 2x,  +x1 = 1

x , + 2 x , + x ,  =  0

x,+x3  = 1

x2-x3  = 3

2x,+5x,+3x,  =  I

3x,+x,+2x,  = 1

x , + 2 x , + x ,  =  0

%&I A X  =  B  hi!0 cofA  = LLRE  (Al  = 4

1 2
A = [ 12 4’



3.1

3.2

3.2

3.4

3.4


